

HW 10 due tonight!
114) 11 due 12/16 (Short, 3 problems?)
- I'll last the dury who alm my Eugen
Find 12/21 1:30 - 3:30 *
MCL: Hours: Next Tuesday 12/15 2:00-4:00 pm *
Review Thursday 12/17 12:00 - 3:00 pm
Frday 12)18 + Appt
come up questions!
Final Rusin - possed some yesterday, more to come!  (Slightly harder the exam politicus)

60% neu matrial 40% cumulatine material

8 - 10 questions A has  $\lambda = 0$  where  $\lambda = 0$  algorithm = 3 algorithm = 3  $V_0 = \ker (A - \delta I) = \operatorname{Span} \begin{pmatrix} 1 \\ 0 \end{pmatrix}$  geon mult =  $\prod$   $V = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$  is the only independent eigenvector NO diagnalization

Turns out to this example. ~ 5-1A5=B let A be an nxn matrix. A = SJS-1 when generalized eigenventors (Jurdan basis) Jorda form of A,

nu-d'agunalizable matrices on

Suppose that A eigenalus  $\lambda = 2,2$ EX geon mult =1 I'm lacking 1
green mult =1 eignour alg mult(2) = 2 alg mult (-1) = 1 make the Junea form From this information, we can Then are the J = 
\[
\begin{pmatrix} 2 \\ 0 \\ 0 \\ 0 \\ \neq \end{pmatrix}
\text{ Ten are the } \\
\delta 2 \\ 0 \\ \neq \end{pmatrix}
\text{ Slocks}
\] We lack
2 eightin
x  $\lambda = 2,2$ Suppose that A = 3,3,5,3gun mult = 2 als mult b 3 = 4 also geon mult = Z alg mult 2 = 2

Their two possibilities for Jorna form J  $\begin{pmatrix}
3 & 1 \\
3 & 3
\end{pmatrix}$   $3 & 1 \\
3 & 3
\end{pmatrix}$ The are different!! The positions of the 11 mater. what are generalized eigenvectors? Suppose we need to find some missing eigenventors. Start W on actual eigenventur W, , A W, = x, W, From w,, we have to mak a Jordan chain

W, , Wz, ..., Wk generalises eigeneuros) I generalized eigeneura for each missing eigeneuter  $A\vec{\omega}_{2} = \lambda\vec{\omega}_{2} + \vec{\omega}_{3}$ Peursine formula: Wz is a solin to (A-NI) ~= ~, - AI) W3 A- LT not muntich nu reduction required (A- JI) Uk = Vk-1

Find the Jurden form and charge of basis matrix

for 
$$A = \begin{pmatrix} 3 & 1 \\ -1 & 5 \end{pmatrix}$$
.

$$A = \begin{pmatrix} 3 & 1 \\ -1 & 5 \end{pmatrix}$$

$$det (A - \lambda I) = 0$$

$$\lambda = 4, 4$$

$$det (3-\lambda 1) = 0$$

$$(3-\lambda (5-\lambda)) + 1 = 0$$
We are lactory 1
$$\lambda^2 - 8\lambda + 16 = 0$$

$$(\lambda - 4)^2 = 0$$
We are lactory 1
$$2 = 0$$

$$2 = 0$$

$$2 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

$$3 = 0$$

We ned I generalised eigenventur.  $(\lambda -4)^2 = 0$ = W(A-4I)

$$(\lambda - 4)^{2} = 0$$
We next I so
$$= \text{Subspace of all eisenvectors} = \text{kir}(A - 4T)$$

$$= 4$$

$$= \text{kir}(-1) = \text{Spir}(1)$$

$$(A - \lambda I) \omega_1 = 0$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

$$(A - 4I) [\omega_2] = \omega, \qquad \text{We want to solve for } \omega_2$$

Ex 
$$A = \begin{pmatrix} 7 & 1 & 1 \\ 4 & 4 & 4 \\ 1 & -2 & 7 \end{pmatrix}$$
 This mothing is not diagonalisable!

Out  $(A - \lambda I) = D$ 

$$-(x-6)^{3} = 0 \qquad \text{als mult} = 3$$

$$V_{b} = her(A - bT) = her(u - 2u) = Span(\frac{1}{2})$$

$$\frac{1 - 2u}{1 - 2u} = Span(\frac{1}{2})$$

$$\frac{1 - 2u}{1$$

$$\begin{pmatrix} -1 \\ 0 \end{pmatrix}$$
,  $u_{21}$   $u_{3}$  is the Jordan We need 2 gardied eigenvectors?

$$\begin{pmatrix} -1 \\ 0 \end{pmatrix}$$
,  $u_{21}$   $u_{32}$  chain 
$$\begin{pmatrix} -1 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} -1$$

- (A-6I)W3 = W2

 $W_{\Sigma} = \begin{pmatrix} 3 \\ 3 \\ -1 \end{pmatrix} = \begin{pmatrix} -1/3 \\ -2/3 \\ 0 \end{pmatrix}$  $\omega_z = \begin{pmatrix} -1/3 \\ -2/3 \end{pmatrix}$ In general pulser, z=0 doesn't work, but ut does in shis case! Hala 84 Mail next fine.  $\begin{pmatrix} 1 & 1 & 1 \\ 4 & -2 & 4 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} -1/3 \\ -2/3 \\ 0 \end{pmatrix}$   $\begin{pmatrix} 1 & 1 & 1 \\ 4 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix}$   $\begin{pmatrix} 1 & 1 & 1 \\ 4 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix}$   $\begin{pmatrix} 1 & 1 & 1 \\ 4 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix}$   $\begin{pmatrix} 1 & 1 & 1 \\ 2 & 3 \end{pmatrix}$   $\begin{pmatrix} 1 & 1 & 1 \\ 4 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix}$   $\begin{pmatrix} 1 & 1 & 1 \\ 2 & 3 \end{pmatrix}$   $\begin{pmatrix} 1 & 1 & 1 \\ 4 & 3 \end{pmatrix}$   $\begin{pmatrix} 1$ solu using met

 $W_{3} = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} \neq + \begin{pmatrix} -2/4 \\ -1/4 \end{pmatrix}$ 

$$\frac{1}{2}$$
 = 0  $\frac{1}{2}$   $\frac{1}{2}$   $\frac{1}{2}$   $\frac{1}{2}$   $\frac{1}{2}$ 

$$\omega_3 = \begin{pmatrix} -2/4 \\ -1/4 \end{pmatrix} \qquad U_1 = \begin{pmatrix} -1/2 \\ -2/3 \end{pmatrix} \qquad \omega_1 = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix}$$

$$\omega_3 = \begin{pmatrix} -2/4 \\ -1/4 \end{pmatrix} \qquad U_1 = \begin{pmatrix} -1/2 \\ -2/3 \end{pmatrix} \qquad \omega_1 = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix}$$

$$\omega_3 = \begin{pmatrix} -2/4 \\ -1/4 \end{pmatrix} \qquad \omega_1 = \begin{pmatrix} -1/3 \\ -2/3 \end{pmatrix} \qquad \omega_1 = \begin{pmatrix} 3 \\ 0 \\ 1 \end{pmatrix}$$

$$\omega_3 = \begin{pmatrix} -1/a \\ 0 \end{pmatrix} \qquad U_* = \begin{pmatrix} -2/3 \\ 3 \end{pmatrix}$$

$$\begin{pmatrix} -1 & -1/3 & -2/4 \\ 0 & -2/3 & -1/4 \end{pmatrix}$$

$$A = \begin{pmatrix} -1 & -1/3 & -2/4 \\ 0 & -2/3 & -1/4 \\ 1 & 0 & 0 \end{pmatrix} \begin{pmatrix} 6 & 1 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\$$

$$A = \begin{pmatrix} 0 & \frac{2}{3} & -\frac{1}{3} \\ 0 & \frac{2}{3} & -\frac{1}{3} \end{pmatrix} \begin{pmatrix} 0 & 0 \\ 0 & \frac{2}{3} & -\frac{1}{3} \end{pmatrix} \begin{pmatrix} 0 & 0 \\ 0 & \frac{2}{3} & -\frac{1}{3} \end{pmatrix}$$